

مسألة احب لبقا من الباقي

$$I = \int \frac{dx}{\sqrt{x} (\sqrt{x}+1)^4} dx = \int (\sqrt{x}+1)^{-4} \frac{1}{\sqrt{x}} dx$$

نقرض ان $u = \sqrt{x} + 1 \Rightarrow du = \frac{1}{2\sqrt{x}} dx$

$\therefore 2 du = \frac{1}{\sqrt{x}} dx$

$$\therefore I = \int (\sqrt{x}+1)^{-4} \cdot \frac{1}{\sqrt{x}} dx = \int u^{-4} \cdot 2 du$$

$$= 2 \int u^{-4} du$$

$$= 2 \frac{u^{-3}}{-3} + C$$

$$= -\frac{2}{3} (\sqrt{x}+1)^{-3} + C$$

$$\int u^r du = \frac{u^{r+1}}{r+1}, r \neq -1$$

بكر ما بيان:

$$\int [f(x)]^r \cdot f'(x) dx = \frac{[f(x)]^{r+1}}{r+1} + C, r \neq -1.$$

مثال احب، لتفهمه - المثال:

$$\begin{aligned} \textcircled{1} \int (x^3+2)^7 \cdot x^2 dx &= \frac{1}{3} \int (x^3+2)^7 \cdot 3x^2 dx \\ &= \frac{1}{3} \frac{(x^3+2)^8}{8} + C \end{aligned}$$

$$\begin{aligned} \textcircled{2} \int \frac{\sqrt{1+\frac{1}{x}}}{x^2} dx &= - \int \left(1+\frac{1}{x}\right)^{\frac{1}{2}} \cdot \frac{-1}{x^2} dx \\ &= - \frac{\left(1+\frac{1}{x}\right)^{\frac{3}{2}}}{\frac{3}{2}} + C \end{aligned}$$

$$\begin{aligned} \textcircled{3} \int \frac{\sec^2 x}{(5+3\tan x)^4} dx &= \frac{1}{3} \int (5+3\tan x)^{-4} \cdot \sec^2 x dx \\ &= \frac{1}{3} \frac{(5+3\tan x)^{-3}}{-3} + C \end{aligned}$$

$$\begin{aligned} \textcircled{4} \int \frac{\sec \sqrt{x} \tan \sqrt{x}}{\sqrt{x} [1+5\sec \sqrt{x}]^8} dx \\ &= 2 \cdot \frac{1}{5} \int [1+5\sec \sqrt{x}]^{-8} \cdot 5\sec \sqrt{x} \tan \sqrt{x} \cdot \frac{1}{2\sqrt{x}} dx \\ &= \frac{2}{5} \frac{[1+5\sec \sqrt{x}]^{-7}}{-7} + C \end{aligned}$$

سؤال واجب لبرنامج علوم: المثال:

① $\int \frac{t}{\sqrt{1+t}} dt = \int (1+t)^{-\frac{1}{2}} \cdot t dt$

تقرن أن: $u = 1+t \rightarrow du = dt \rightarrow t = u-1$

$\therefore \int (1+t)^{-\frac{1}{2}} t dt = \int u^{-\frac{1}{2}} (u-1) du$

$= \int (u^{\frac{1}{2}} - u^{-\frac{1}{2}}) du$

$= \frac{2}{3} u^{\frac{3}{2}} - \frac{2}{1} u^{\frac{1}{2}} + C$

$= \frac{2}{3} (1+t)^{\frac{3}{2}} - 2(1+t)^{\frac{1}{2}} + C$

② $\int_1^2 \frac{dx}{\sqrt{x}\sqrt{4-x}} = \int_1^2 \frac{1}{\sqrt{4-x}} \cdot \frac{1}{\sqrt{x}} dx$ $(\sqrt{x})^2 = x$

$= \int_1^2 \frac{1}{\sqrt{4-\sqrt{x}}} \cdot \frac{1}{\sqrt{x}} dx$

تقرن أن: $u = \sqrt{x} \rightarrow du = \frac{1}{2\sqrt{x}} dx$

$\therefore \int \frac{1}{\sqrt{4-\sqrt{x}}} \cdot \frac{1}{\sqrt{x}} dx = \int \frac{1}{\sqrt{4-u^2}} \cdot 2 du$

$= 2 \int \frac{1}{\sqrt{4-u^2}} du$

$= 2 \sin^{-1} \left(\frac{u}{2} \right)$

$= 2 \sin^{-1} \left(\frac{\sqrt{x}}{2} \right)$

$\therefore \int_1^2 \frac{dx}{\sqrt{x}\sqrt{4-x}} = \left[2 \sin^{-1} \left(\frac{\sqrt{x}}{2} \right) \right]_1^2$

$= 2 \left[\sin^{-1} \left(\frac{\sqrt{2}}{2} \right) - \sin^{-1} \left(\frac{1}{2} \right) \right]$

$= 2 \left[\frac{\pi}{4} - \frac{\pi}{6} \right]$

③ $\int \frac{\sec^2 x}{\sqrt{1-\tan x}} dx$

تقرن أن: $u = \tan x \Rightarrow du = \sec^2 x dx$

$= \int \frac{1}{\sqrt{1-u^2}} du$

$= \sin^{-1}(u) + C = \sin^{-1}(\tan x) + C$

④ $\int \frac{1}{x\sqrt{x^6-25}} dx = \int \frac{1}{x\sqrt{(x^3)^2-25}} dx$

تقرن أن: $u = x^3 \rightarrow du = 3x^2 dx$

$= \int \frac{1}{3x^2 \cdot x \sqrt{(x^3)^2-25}} \cdot 3x^2 dx$

$= \int \frac{1}{3x^3 \sqrt{u^2-25}} du$

$= \frac{1}{3} \int \frac{1}{u \sqrt{u^2-25}} du = \frac{1}{3} \int \frac{1}{u \sqrt{u^2-25}} du$

واجب:

اجب بقوات التاليه :

$$(1) \int \frac{\csc^2 x}{4 + \cot^2 x} dx$$

$$(2) \int \frac{(2 - \sqrt{x})^5}{\sqrt{x}} dx$$

$$(3) \int \frac{\sin(2x)}{\sqrt{9 + \cos^2 x}} dx$$